ﬁ/ ﬁ 5 U_Z 0 2 7 Fﬁ%?ﬁ%t&%?n?ﬁ 1%1”? 2B1TB

SY—~F—LTZRTOS2 I

Cart 552 k54,5~ 2RS4~ |F— L% B4 ss1 | ss2 | ss3 | ssa | sss || ssat | as '71,E7[‘:7‘
1 1 B-1 |8 = e ?f@jh/hzaﬂ ~ _JADVAN Prou CN9A T i:10.4] 1:38.8] 1:08.7) 1:004] T 5:07.3] 5:07.3] 4
T2 | B B AR g B2F [FoLA—TARF—y T =Tnaovansy—1BIEE| 1:32.8) 1:37.2] 1:07.4 1061} 5:235] 52351 10
3B | EE FE _gﬁ{sgﬁ ey _3TmRz ) =559 —TARa—a VL | 1:06.5] 1:36.1] 1:04.8 1:06.7 4:54 1% 4:54.11 1
4 Bt |meR BE L B B SU—F—LUSURTECzol b~ /050 — | 1012.0f 1:34.5] 1:06.8 1:06.3¢ _4:59.61 4:59.6f 3
"5 | B-1 ig o VV,FFJJ i 3 J HA—TIL DSOL HKZH— 1 1:17.4] 1:46.9f 1:16.3 1:13.4 i 5:34.0} 5:3/ 12
6 | B-1 |BE F ANl EHMR __|MOVEL¥rADVANWORK#GR4 | 1:17.2] 1:45.8] 1:15.1 1012.5y . 5:30.6] & AN
71 Bt f“;_k * KE BHE A—TL5J—F—L AT sos 2509—1 1:17.8) 1:40.2] 1:12.3 1:11.5) ] 5:21.8f 5:2 9
8 | B-1 |4 A |HE+HE % |COBALT __JcOoBALT-CSM-S 49— 4 R} -1 - o R N R
9 | B-1 Eﬁ@gﬁ_; o EsE B Ta=XF/RRR—Y |3 XF/RAR-YSH— | 1:16.8] 1:41.9] 1:10.7 100p ) 5:18.81 5:18.8f 8
10 | B-1 |[BE EE = B 1/47—47\I~7U~=f-A I ATARFDXLS Y — 1 1:15.2{ 1:40.0f 1:11.0 1:09.41 ] 5:15.6] 5:15.60 7
11| 81 |BE B B TRE—RA S —F—Ls TR—BITZLSYaRA—RFS5 99— 1:11.0] 1:39.9] 1:08.9 1:07. 8] 5:08.5] 5:08.5] 5
12 | B-1 ﬁ,ﬂz BfE  pEE A JE—5—AR—UsS5TFYR|FVYREBRS 1Ty 1:10.3] 1:34.6} 1:06.3 1:05.8] | 4:57.0f 4:57.00 2
13} B-1 |E8E B [EAK EB CMSCHEF ICMSCHAAAT MTH— 1:15.8] 1:47.7] 1:28.7 1:12.50 | 5:44.7] 5:44. 7% 13
14 | B-1 |@i s wo Gk F—LBIE TL—rS5o4— 1:11.3) 1:39.6] 1:10.8 1:08.8 5:10.5] 5:10.5{ 6
15 ] B-2 /g A # BE IBMKS—F—L JTOKOQFRBTUFBMKES—Ta | 1:18.0] 1:44.8] 1:14.4 1:13.6]  5:30.8] 5:30.8f 2
16 | B-2 /j\%‘é’ B& 2@ %A  |IBMK SportRALLY TEAM  |BMK Sport 25—%a 1:13.2) 1:44.11 1:13.6 iy 5:22.0F 5:22.0] 1
17| B2 |BE A |BEX ‘%’éf&MﬁS:port . |BMK Sport 85—2a .} R n B ; R
18 | B-2 {Eka N A BE SO YASI—Da . 35—%a ) o199 1ma86f 10152 1:15.8) ] 5:39.50 5:39.5¢ 3
19 | B2 |IBR EFL BE FEE |5O5YASI—F—L 0 |[FR)IS510h—3—QBRZ 1:26.3] 1:50.10 it I R
20| B2 |&E X B8 & JE¥—2A# %‘éﬁﬁ&%::/f%/—x»rz-r 1:321] R 1 - - - R
21 | B2 |EE B 8 S RTWARYRIALY BB |[S5Y—FusT—9R55—Ta 1:29.0F 1:42.11 1:27. 4 1:30.2 | 6:08.7§ 6:08.74 5
22 | B2 |®#E & @ RE RT-GP YV -A/2-35—a 1:26.7] 1:42.1] 1:32.5 1:18.5 6:00.8] 6:00.8] 4
23 | B-3 [#% %— flE BE AT AR—YS—F—Ls |A—=T)L YHDXL #ET1vY 10193 1742 1] 10139 1:13.8f 1 5:29.1] 5:29.1] 2
24 § B-3 | X% EH OB ATO—\ybS)—F—L  |YHRAIZO—/\whkVitz 1:28.3] 1:51.7] 1:20.4 1181 ' 5:58.5] 5:58.5¢ 5
25 | B-3 [#K gM,:, 82 %47 F—LID {PS24 STV T4 1:24 9] 1:52.9] 1:24.4 1:22.4) | 6:04.6] 6:04.61 6
26| B-3 |mE &8 KB TA GARAGE A ~ IGARAGE A Yyt 1:14.7] 1:42.1] 1:16.0 1:12.6f 5:25.4] 5:25.4] 1
271 B3 NE K BE HE  ICMSCEF VT A AHRATE 1:23.47 1:53.3] 1:16.3 1:17.9 - 5:50.97 5:50.91 3
28 | B-3 iBK F I’ OFM JAYABE & T.R SANO ~ JAYABE NA R&—Lwb 1:26.3] 1:52.7) 1:23.4 1:23.0] 6:05.4f 6:05.4] 7
29 | B-3 IEEE X Tl #% AT ISY—F—L A=F LK ETAEIXT4IE 1:27.3) 1:49.0] 1:19.8 1:22.2 5:58.3] 5:58.31 4
30 | B4 1=@ - M Sed VESTESR: I DUCHM4a SP/L—6 BRIG Vitz] 1:20.3] 4:37.4] 1:16.2 1:15.8 1 8:29.7f 8:29.70 1
31 | B4 [ =8 2 g H—HR—+ o A—HR—keO CVT Y4y 1:31.20 11:19.3) 1:29.0 1:27.9 15:47 41 15:47 4 2
AA LANFILTA
Car s B e

e
3
s

- L o -
HBERESRS )&& :Q\ B)% BHEES Z///’C ﬁfi\ctff FERREEA N\Q




